| Lef  X=Chis and = Kim. TF K A
’ch\ﬂ*éd IO more. than Twice —Hmz,ﬂumbe,r‘ Hrot—
Chris 'P(,uf\“'e_d , then
‘Y = oZX -t—lO
And if Fhey painfed 100 boards together, then:
X+y = 00

Now substitute te Frst a},uc&‘iom o e second.

X + (Ax+10) = 100
Sx +10 = 100
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Hel Led W stand for the number oF hours, Machine
one. pri nts @O papers an Yout, Therefore ¢
Machinee 1. — Ceels

Machine. twWo can prer 200 eoch houe but
doesint begﬂ P\'\(\‘\"Hﬂ% ontil 2 hours after the

Lt madning, Theretore ¢
Machine & —» 200(h-2)
"rocsd’har +‘nfLY must print (5,000 copies, oy

weon + 200 (h-2) = 15,000
GO0 + BCoh — (6O = 15,000

+ 1000 + | (OO
HOO = 16,600
{Het 1400
h= 119

Equacion: L0 + 800(h-2) = 15,000 Hours 5 1.9



4= o AXA
5 The area. must be less than 5 £
( bcl%)C het 3%\‘5 < WS

(ax+3)(5) < 65

IOx + 15 < 65

- 1S -1%

ICx < 50
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:ﬁ'-}"\ Ld’ X = Puuﬂdé Cf' \nd’ doois c:md \I = 'qu;Ka%e,,S Q?
Ghicken wmoBS.« There are. two clves given.,
involves moneN and eng. does noJr) 50 \{ou should
mates Two i w}ua\ HeSe

Hx + 7\/ < Hdl

Irzg)}u&\‘\‘ {—Y g 3

Inz‘c}_ua( -4'\1 ol o X 25
y N
fm&ua\ﬁ\’ 1 will be eagier +o F
gmph ‘N stc?e,»a,wm«c,e,‘s;f Sorms &
% | | £
Hx +77y £ Ha g
-4y “ U E?
Fd ~ . -y
7y < X g T LT
g N
\/(\‘_L‘/—y)(\‘*"(ﬁ T .
ﬁua3‘(5¢‘1§5q§cn v

Pounds of Hot Dogs

Any point™ in the shaded
regicn 1S & sclution, so
just pik +Two.

For e,xCuT)pie (7) () and (@)g_)
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You can moded the sitiathion with an @xpomnﬁcd
‘uncien.

&
6 = 5 <3> v\ tnaements, of

T 1 heurs

invhad am wth
amouvit dGactor

Since. H® hours s H sets of 1L hours | use
+=Y,

B = 5(3)
Ce=HO5
o find out how long it taes o hawe 900 badteria ,
et B=900 and <ol Yor T.
o
B0 = 5(3)
5 5

: +
6O = 3R
NO’N Use. “Sutzss ol é,lfLQ,c,\(” —+o -?\‘r\a . |

Sz 3= @ and 3= 43, t e between H and 5,
Keep +e§ﬁr5 volues between A ard 5 and yeu
Will zee ot

T &2 H. L

Since. + repﬁeﬁen‘i‘g sets mc ZN hOU'rS) \/OU mUS-
mulﬁp\\j \::\/" Q.
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5ince. W has ez 3rea¢+é$+ powes & 10 n s
distance, #+ 15 the farthest, Z has +he
smallest power o (O sc ™ ig +he closest,

of He remaning two, Y nwst be e facthest
sine. X195 greater Han |4,

" W, ¥, X, Z-

#7 For a=a v be, neaotive. | a® would have
4o be smaller Thary ., whidn s onl
trve_ (for ?cg;\h ve numbers) when o s a

-J?radi CNe.

0<a< | D

#8 5%6? 12 Take coce of +he e%wrwm*\‘ on the
second set™ of Tarentiuses,

( 3)(* \/ "5)(‘, L \] ;) X oo mu«gi’ squaTe. eyex\{—qug

. n the parentheses.
( 3)(3\/ '6}(1—1 x:z.y u)
Step Lt Multiply the two ferms fogether



;H:C? 61*@ A2 (embine. the wetfcients and He

contets of . J S bx/ mu ‘hplymcj‘,

v~ M
5\)—3/‘:! o Hj—g = l&\ﬂ_@—i
R

Step 0 Gimplify +he J |

VALY
3 ¢4
ke B3

AA

# 1O 5‘mP‘/ substitute t+the values into +he
eX pression and  follow +he Poper order
o <"/t>¢,ro\+\ms

):(oﬂé*) (-2)(5) ]
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Finding the domain means --ﬂ:igur‘mg ouT ALA
what Valves of X can be vsed Tn the
function. TN this case., note +hat \ou
Moy only SqUaR Yoot 0. number ﬂrecu'ar
than o eﬂual 1o zero, Thereloe ¢
3k -G = O
+ b (o

BX o
3

N (©
X = 2

IV

4 | ol | | | | ’_
A (Tre) = Yes, +he graph conhnues "'\ndzﬁnﬂ'e\\{
fFom e +o rTS\m‘\’ ,
(Q’g&) — The gm?h S lq'i{csimﬁi’ point hag o \I—V&\U‘Z,
ot 5, 50 t does DQT(_@Q-\-]QU@_ VP
Yowards O, -
C C/r”’&) — Vou can <ee on~the gro@h Hnat QOQ
frosses e X-axis atr % and oZ.
D (Trwe) — Yes, S) crosses the y-0xis e ods
13

IE +he diameter Ariples eveny dCx\]) the Frunction
s o the forme
| -
o) = T(B) ey

udiad
amouvnt

The or\\Y gr h *H”‘(JL‘\' rcpre.se,rﬂ'% an nereas 'Wﬁ
éxw»%n-\’?a\ “ncton 154

@,



o | ALA
414 To  £ind S Nou must substitute 2

Yor X in the Sunchon.

£E@) = 3@

i

# 1D

16 T an éanww+\ck\ fnedion, each teom is muttiplied
by o Particlar number +o aet Hie next term.  Leok
ot Hrz Table 4o Find Hodt mu Hplier,

T Since. D (9 doubled o become G, e
(Y\u\ﬁph{i(' e o, /\mu) Us‘f‘ CJOUble_(Q
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:H: )% U'{?(Z—- ‘i'h/’L_ ?C’HO{JOKH@ C'C,m‘;x:‘ur‘:) z{m_‘},eréﬁ_‘_ ’FDFmU(CKi
A= P( | + __;]:_.)n'f A = balane after T years

P = original ameont
r = annual nteest rate (s decimal)

A = A0CO (l 3 A%)(QXS) N Z:H:u +:m,%5 (,d’{}j)"xjdi’ldicj annuallY
+ = +ime in yeurs

A= Kcco (| +.02)"°

A = a0c0(1.03)° @
A=H37, N

#19 57,10, 13
+3 3 43

To ot each ferm, you add 3 o Fhe ferm before. 1T
a@=4  ale)=an+3



» | | AIA
0 Toolate. N

L e A = .g: (b;""ba) o oL

AA = h (ba *’bi-\

b‘-(—bz_ ba*‘”bz.

b, + ba




